20174F )% - ¢ 1) E AR

(Fpref22 2 )

A

[$244]

- E

1. SRERRERE 50 4G

2 T ST o % D 230 A L7 5 o,

3. HEMMO AR T BHODE T,

4. g% TN TE T A,

5.ME=EIX 314 & LT,

6. HIZC & B 75 M A IO TH L4 5 o,

7 B 5 <= YT B ) 2T, WO AR TLTHAL,
ZHSTVRWIEEIZIEZT CICF2 IR 30,




ko | EHTEELMELEHEEROE S0,

(1) 362 x48+362 %131 —362x5110=] |

(3) BEMEEN% 118 400 [ CAENEANRE Lize €09 B, THATwR 10 EIET
B % 1181200 FICBE L 72 & &%, Afko R 20000 &%) £ L tEAR
FEEEEHE | [T, 2L, WEBEEAZVLDOELET.

(4) BUE, TEFSAOES13FT, BEOEME 9 3T BT SALBROES
DHA2:3LRDBOE, 5h5 [ | FHTT,

(5) 2017406 A 16 HEEMATY, ZOEDI2H 25 HIZ | | BHTY,

Ko | | KHTEIEHERDE SV,

365a—o>at)a)@\zm PIFTh, ZORIEHE 55 5 BORT, Bh/ASH

S CA RS

(1)

2) [1], [2] [2] [3] [3] [4] »6#dpr—Frs 3Kon—FERATI I

DEBENED £, BasEKidane [ | BT,

2 -1-



(3) MoEHIE ABCD T,

---dcm--o -3emel
FGZGC:D:E A .-~ ~. E ~.D
T3, /
Z2cm G
1 cm 2
B C
I 7] ] IMZ 45 7
(4) M, 4 AD L BCHFEATTH A F D

% B ABCD T9. #4 CE, CF 6 .
THE ABCD Otk =%707 5 & \/E
%,ﬂAD@Eé@E:hmfﬁk

B e -7 C
TTe--28cm -
(6) B, KHEAEA=METH L =M C
ABC~DEF T%, 34D, H G#%#5% Y

PHTEAHERY > TTEBMUMATY A |
D-GEFH Oz | | em’ T3

w2 -2~



RO EHIZ, HHBANT L 72h3> THEAEA TV E T,

ZDEE, ROBWIZEZ RSV,

[~

1@&#%@%ﬁ®ﬁﬁ?¢#o

wo

Fiar & 85 B O BUIA T3 A

—HLEDGEPS SHFEHDOTHETEITNTMASL L, WDIZh D) FTh

2 -3 -



T el D s AT E USRS R % M CERICP v E ¥ IR E THERE
TRV ET. BEAEBNLREN)ONAEETHETOM QST 545E, 1N
ZAET 10 405D, B 45 km /S ALZ 20 535 T, HHET 50 54T THEA ]
nET, WAEEECEGEEAIEZENATEDEIRAL DL LET, 2O
LE, ROBVIZER R SV

(1) HEPLFRT TOBEO NI km T,

(2) LSS R C 7200, BIEEOM S & 53 m 2§ E LTI,

3) WOHEEOMRZ5E250m & LET. BiE HEE TSI (5
DT o N ATBOBE S T T

2 -4



A B COEY—A—IZ, HLETIN0g DEEANASTHWEFT, EEITAD
3%. B#6 %, CAIL%TT, HLHIL, ADBED L% BIBLE haiRe
FLi KIS, BABEZO 4 & CEBLICASRELL, 300~ H—0fl
KOBPFLIZEDE L SOEE, ROMWIZEZ S0,

(1) BHIZ A A5 TOEHKDBRIIT g T3 2%
(2) ADDHBIZEEKER L&D, BOEHKOREIIM% T h

8) Boo CIZHEIEAKEZRLED, COREKDEEIIN % TT H.

4) 6T, CrLALHLEEZBLICOERELE, A, BOAEKADEEDRFRL
WK E L7z Cho AIBLAARKDEIIN ¢ T,

w2 -5~



R4

#H

RS R (s 2 W) | 2 5

[S%K]

e

R
g
A
~N

= x| =




Sy X X
= ~ )
> o~ B




